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1)  Supongamos que existe la matriz A: por ejm. 
>>A=round(rand(3,4)*20)
A =

    19    10     9     9

      5    18     0    12

    12    15    16    16

a) >> ((sum(A')-min(A'))/3)'

ans =

   12.6667

   11.6667

   15.6667

b) >> media=(max(max(A))+min(min(A)))/2

media =

    9.5000

>> A(A>media))
2) >> [M N] = size (A) ;
>> B=A(2:M-1,2:N-1)

B =

    18     0
3) Por ejemplo k=2
>> [m i]=max(A(:, k))

m =

    18

i =

     2

>> [n j]=min(A(:, k))

n =

    10

j =

     1

>> A(i,k)=n

>> A(j,k)=m

A =

    19    18     9     9

      5    10     0    12

    12    15    16    16
4) Por ejemplo :
>> Q=[ 1 2 -3];
>> rq=roots(Q);

>> R=[2 -3 1];

>> rr=roots(R);

>>P=conv(Q,R);
5) Por ejemplo:
>> t=0:4
>> X=[1 3 6 8 10]

>> P5=polyfit(X,t,length(X)-1)

>> v=polyder(P5)

>> a=polyder(v)

>> t0=0:0.1:4;

>> x0=polyval(P5,t0);

>> v0=polyval(v,t0);

>> a0=polyval(a,t0);

>> plot(t0,x0,'b', t0,v0,'r',t0,a0,'g')

